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Oéna 1°

>y, BipAio ceh. 38
2. BipAio ogh. 40
: 1. av6>0 kar |y|< 6= < 3x< 6
2. |x|=|oc|<3x =a N x=-a
A.
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Qo 3°
A 3x—1-2<2)l-x < 3x-1|-2x-1|<2 &
' Slr-l<2e-2<x-1<2&-1<x<3
B (x—1)"=3(x—-1) -4=0 {OPPITITETAI)

Ostw  (x-1)Y =w,0 >0

B I BBes BB 3453 ByE2
B2 Bz (B W3+ 2)(ﬁ—\5%v 1
=3+43V2-(3v2-2) 553+ 3 +2=373

Oéno 4°

1
D37 d-1=32a|=4<
A
1.
=3x+3 e o9y 1 10x= 10 x =1
o 1 1 & 3 3
(&) y=—3x3 y=3(D+3my=-F+F = y=0

Apa 1o onueio Toung twv & kol & eivorto  A(-1,0)
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B.2.
d(AO) = /(X ,— X, ) +(¥, —¥o) =+/(-1-0)* +(0-0)* =v1 =1=>d(40) =1

B3. Apkel f(-1)=0 (1) +AU-D)-1=0= -1~ V=0 1=0

B4, Tw =0 f(x)=x"-1
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Apkel f(x)>0x’-1>0 X" >h < S

12 |
x>1
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